MAT2703-01:04 038 Quiz 3 Print Name {T.ast. First) \i {0

Show all work. including mental steps. in a clearly organized way that speaks for itself. Use proper
mathematical notation. identfying expressions by their proper symbols (introducing them if necessary).
and use arrows and equal signs when appropriate. Always simplify expressions. BOX final short
answers. LABEL parts of problem.

Last century people ked 4o think a 07 average annual retum on'investment was
a good number:  Solve the following IZE for the amourt ALX) 1 thousands of
dellars of a refirement investment of a worker whose starhng salarny is 30 Hrousand

dohars and 4 isthe number of years worked | dunng which the safa Sy =30e"’
Foreases aft o Ccotuous) Gonud] rale of 5'°7°Juhi'le. 125 \s put it the rehremenit funds

First express A(40) | the rehroment

05t
%J\% = 012(30) € + 0.6 A e s, 1) doltars amd cents
Yo the peresy cent, ard Tthen round to

A (O\: 0 2 sxﬂn\ﬁ cant )Cl'guhes.

EXTRA CCEPIT ' solve Fhig Pl’vb\em with the dsolue Jrfvyp}.q+'c end evaluate A (40) f’-’ﬁ]
Apts exbmcredit.  emall me the woresheet with webmet] 4 clain the credie
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